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1. The sum of the numerator and the
denominator of a fraction is equal
to 7. Four times the numerator is 8 less
than 5 times the denominator. Then the
fraction is

MATHEMATICS

A)

B)

C)

D)

2. In the figure, APQR Il APST and
perimeter of APQR : perimeter of APST
=3 : 4. Then the area of APST : area of
APQR =

i T
Q
R
S
A) 16:9
B) 9:16
C) 3:4
D) 4:3
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T

1. R Famam T A 72 | AW
FATNHFSTNABAFAE,
i 2

A)

6 Rl

B)

| =

C)

D)

Hlw N O

2, ¥ fa@m g o # o7
APQR Il APST 3R APQR i gfifer

APSTHI YRy =3: 4, @ APST #
9% : APQR #1 8% 8

i T
Q
=
S
A) 16:9
B) 9:16
C) 3:4
D) 4:3
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3.

Every person in a room shake hands
with every other person. The total
number of handshakes is 45. The
number of persons in the room is

A) 5

B) 10

C) 15

D) 20

If x(x —2) = 1, then the value of x? +i2
is X
A) 0

B) 2

C) 4

0) 6

The value of tan 7° tan 23° tan 39°

tan 60° tan 51° tan 67° tan 83° is
A) 0
B) 1

C) 3
1
D)'J—E

. An arc subtends an angle 60° at the

centre of a circle of radius 6 cm then
length of minor and major arcs are

A) 2rand 10w
B) 10nand2n
C)8nanddn
D)4rand6=n

Page No. 4

3. T TR H TS Al ga AR A 7Y
foraman @ | w1y firem f T e 45 R
O 39 & TR i T @

A) 5 '
B) 10
C) 15
D) 20

4. FRx(x—2) =12 52 4+ LW
e} :
A) 0
B) 2
C) 4
D) 6

5. tan 7° tan 23° tan 39° tan 60° tan 51°
tan 67° tan 83° & T4 @
A) 0
B) 1

C) V3
g
D) 75
6. T 6 cm T3 & 99 & %% A UF 919 60°
v JTaRa a1 & @ Y =19 SR geg 919
i T ®
A) 2n3R10n
B) 10x3R 2=

C) 8r3i4n
D) 4n 36T
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fp+g=6andpg=8thenp’+q’=
A) 216
B) 144
C) 72
D) 36

In the figure, if AB || CD, CD || EF and
x:y=3:2thenz=

A) 36°
B) 72°
C) 144°
D) 108°

In two concentric circles of radii 15 cm

and 9 cm, the length of a biggest chord
of the larger circle which is a tangent to
the smaller circle is

A) 24 cm
B) 20 cm
C) 12cm
D) 10cm

Page No. 5

7. ARp+q=63Mpg=8%,Ap°+’=

A) 216
B) 144
C) 72
D) 36

8. T4 27ia A 3R AB || CD, CD || EF 3R

x:y=3:28,Mz=

” / .8
n/"x
Zz

> D

> F

A) 36°
B) 72°
C) 144°
D) 108°

9. & gHf2d gu i Br=w1 15 cm AR 9 cm

2 =2 99 o a7 Sfan S fR o
T <t T9¥l Ta B, I5eh! T B

A) 24 cm
B) 20 cm
C) 12cm

D) 10cm
1 PECE
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10.

11.

12

In the figure, A ABC and A CDE are
right angled triangles. If AC = 24 cm,

CE =7 cm and |ACB =|CED then
AE is

C
pH E

r

A B
A) 30 cm
B) 25 cm
C) 22cm
D) 15¢em

The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

The common factor of (p? + 9p + 14)
and (p>+ 13p +42) is

A) p+2
B)p+6
C)p+3
D)p+7

10.

11,

12,

D)p+7

3THd § A ABC 3T A CDE oo
BY<I® | 3R AC =24 cm, CE =7 cm
3t |[ACB=|CED 2 @Y AE R

¥
pH E
.
A B
A) 30 cm
B) 25 cm
C) 22 cm
D) 15cm
2 T3 AT 161 §1 4R 39 T o
H T R & 30% e 2 o am e @
A) 71 3R 90
B) 70 3R 91
C) 54 3iR 107
D) 60 3fit 101

(P? + 9p + 14) 3 (p? + 13p + 42) T
GHH UES 8

A) p+2

B) p+6

C)p+3
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13. Pramod and Praveen are the sons of 13. yHiE 3T T youel & 92 & | Ioad

Prajwal. The present age of Prajwal is $ Fdu 1Y yaie Y Y a4 T

4 times the age of Pramod and 6 times AR weltor i ST | 6 AT # | IR IR
the age of Praveen. If the sum of their 31 1 AT 51 9§ & TR B, A %2 it
ages is equal to 51 years then the AT g &

resent ages of sons are
s - A) 9 T 3k 6 TT

A) 9 years and 6 years
I ) B) 8 @i il 9 |

B) 8 years and 9 years

C) 9 years and 4 years C) 94T 3R 4 |
D) 5years and 9 years D) 5 9T 3K 9 ¥

14. In a circle inscribed in AMNO having 14. AMNO ¥ U F9 %I 3ifea o T 8,
MN =12 cm, MO = 14 cm and @t MN = 12 cm, MO = 14 cm 3R
NO = 18 cm touching sides at P, Q NO = 18 cm &, St s[=isit &t P, Q, R
and R, then MP + NQ + RO is 9 T9l Har g, @ MP + NQ + RO ®
A) 18 cm A) 18 cm
B) 20 cm B) 20 cm
C) 22cm C) 22¢cm
D) 44 cm D) 44 cm

15. The angle between the hands of a clock 15, 4 ¥ W 92 & FHil & = & H

when the time is 4 O’ clock is BT e
A) 60° A) 60°
B) 90° | B) 90°
C) 150° C) 150°
D) 120° D) 120°
16. The median of the observations 46, 64, 16. 3FR 92 99 & 3K 41 W 43 R aga fewn
87, 41, 58, 77, 35, 90, 55, 92, 33 after T} A WA 46, 64, 87, 41, 58, 77,
replacing 92 by 99 and 41 by 43 is 35, 90, 55, 92, 33 H Tt B
A) 55 A) 55
B) 58 B) 58
C) 64 C) 64
D) 43 D) 43
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17.

18.

19.

If a line 3x — ky = 5 passes through
(3, 2), then the value of 'k’ is

A) 4 B) 3
C)k2 D) 1

The rationalizing factor of abg/% is
a

A) b

B) JE
b

C) : an+1
bn+1

all—1
bn—‘l

D) &

Match the following :

Solids Volume

1. Cone a. i,t,-’d
3

2. Cylinder b. nr®h

3. Sphere c. 2,9
3

4. Hemisphere d. %nrzh
1

8. —nrl
3

A)1-d,2-b,3-a,4-¢
B) 1-d,2-b,3-a,4-c¢c
C)1-e,2-b,3-3,4—-c¢C
D) 1-e,2-d,3-3,4-b

Page No. 8

¥7:

18.

19.

IR (3, 2) W T UH @I 3x — ky = 5
ST A 'K Y B

A) 4 B) 3

C) 2 D) 1

abn-E- o1 9T UHETS

]
A) B
B) JE
b
C) an+’l
bn+1
an—1
D) bn—1
Sirga fofia |
LERCHE| N ene
) i ?ia; (aaq) d. %Tﬂ'a
2. oo (Rei=) b. mrh
3. MR C. gm.a
4. Mo, d. -:-;—nrzh
e. .lm-ﬂz
3

A)1-d,2-b,3-a,4-¢
B)1-d,2-b,3-a,4-c
C)1-e,2-Db,3-a,4-¢
D)1~e,2-d,3-a,4-b

1 PECE
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20.

21.

22.

If m and n are the roots of the quadratic
equation x® +px+8=0withm-n=2
then the value of ‘p' is

A) £8
B) £7
C) 6
D) £5

The simplest form of

e

A) 1

The mean of 15 observations is 23. If
each observation is multiplied by 2, then
new mean is

A) 23
B) 46
C) 25

D) 36

Page No. 9

20.

21

22.

3R m 3R n TeEmas wte

X2 +pX+8=0FqARAIMM-n=2
TR pHE TR

A) +8

B) £7

C) £6

D) £5

(o2

A) 1

1

o

B) x°-

1
C) x® +;{?

1

15 SFaEAl &1 Aad 23 8| IR TAw
3TarTeR =t 2 @ 7on fera stTe & e Sfea
am

A) 23
B) 46
C) 25
D) 36
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23.

24.

25.

26.

There are 13 girls and 15 boys in a line.
If one student is chosen at random, then
the probability that he is not a boy Is

1
A)E

B) 13
28

L
18
il
13

C)
D)

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm, 5cm
B) 5cm,4cm, 8cm
C) 8cm,3cm,9cm
D) 9¢cm,4cm, 11 cm

1Bt B R 10 Romer are triangular numbers,
The smallest triangular number that
exactly divisible by 9 is

A) 18

B) 27

C) 36

D) 45

If the quadratic equation
4x2 - (p~2) x + 1 = 0 has equal roots
then the value of ‘p’ are

A) 2or6
B) 2or-6
C) -2or-6

D) -20r6

Page No. 10

23.

24,

25.

26.

uF ufd # 13 wrsfaai ot 15 @ €
3R 3 ¥ fret v B ) g S @t
IS TEH 7 B h GuET R

1

A)E

B) 13
28

AL
18
i
13

7t & e et e Bl T R 7

A) 2em,3cm, 5cm

C)

D)

B) 5cm,4cm, 8 cm
C) 8cm,3¢cm, 9cm

D) 9cm,4cm, 11 cm

1, 3, 6, 10, .....Pehrfiy d@nd &) g=@
B Frnifia e st 9 & yula: R 8
qER

A) 18

B) 27

C) 36

D) 45

IR fRum T 42 - (p—2) X+ 1=0
FUATAFE, @ p F I R

A) 216
B) 2416
C) -2dq-6
D) —26
1 PECE
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27. The quadrilateral obtained by joining
the points (1, 1), (- 1, 5), (7, 8) and
(9, 5) is

A) Square

B) Rhombus

C) Rectangle

D) Parallelogram

28. The linear equation coincide with the

line2x + 3y =12 s
A) 2x+ 3y =15
B) 7x+ 14y =13
C) 8x+ 12y =48
D) 8x+ 10y =18

-4
29, Iftan 8 = —— then the value of sin 8 is

3
4
A) Ts*
4
B) ig
-4 4
C) ?but not 5

4 -4
D) 5 but not 5

30. Ifsin (3A-B)=1and

cos (2A - B) = ﬁ then the value of

2
sin A and cos B are

1
A) M3, 0 B) 5.0
2
1
c) ¥3, 1 o)
2

Page No. 11

27. (1,1), (-1, 5), (7, 9) 3K (9, 5) fgait

FI e W TG e 8, 76
A) T

B) weEgyw

C) ¥maqd

D) @M =g

28. tefim gHtwr S 2% + 3y = 12 F @ A
@Y, 98 &
A) 2x+3y =15
B) 7x+ 14y =13
C) 8x+ 12y =48
D) 8x+ 10y =18

=4
20. R tan 6= —- 8, Al sin O H T4 8

D) %%m%‘qﬁ

30. 3T sin (3A - B) =1 3
cos (2A —B) = ¥3 &, 7 sin A 3k
cosBHF g 2

A) V3,0 B) 5.0
2
c) ¥3, 1 D) 3.1
2
1 PECE
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31.

32.

33.

34,

If a, b, ¢ are in AP and

a+b b+c¢

— X —— =
D) > Y then the value of

(x+vy)ls
A) 2a

B) 2b

C) 2(a+b)
D) 2(b +¢)

Four coins are tossed. The chance of
getting none of the face as head is

A)

3)

C)

ks
Al Ol @ ml_-.

D)

If (n? - 1) Is divisible by 8 then 'n’ Is
A) a natural number

B) an integer

C) an even integer

D) an odd Integer

A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of

the surface area of all smaller cubes to
that of large one is

A)1:2
B) 1:4
C) 4:1
D) 2:1

Page No. 12

31.

32.

33.

34,

3 a, b, c AP & & 3R
a+b b+c

7 =X =Y R (x+y)
Ha b
A) 2a
B) 2b
C) 2(a + b)
D) 2(b +c)

o forant w1 38T 9 1€ el | oft R
T 3 Y AT R

A)
B)

M
16
i
8
1
C) E
3

D)4

ARBA (N2-1) g kat'n'k
A) SThfas qe

B) qurie

C) i @m (& yuits)

D) frwm qurten

T 4 cm YT % 99 F WA 1 em §&
% u H el San ¢ | vl Bl w6
U % T GRS | T &

A)1:2
B) 1:4
C) 4:1
Dj2
1 PECE
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35.

36.

37.

38.

A 20 m deep well with diameter 7 m
is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The height of the
platform so formed is

A) 25m
B) 3.6 m
C)5m
D) 7m

If one root of the equation

x2+ax+b=0is % times the other.

Then the correct relation between
aandbis

A) 3a%=16b
B) 16a2=3b
C) 3a = 16b?
D) 16a = 3b?

The area of a triangle formed by the
points (a, b +¢), (b,c+a), (c,a+Db)is

A) a+b+c
2
By akc
2

C) 1
D) O

Ify=m+m?+m3+....e when |m| <1,
then the value of ‘m’ is

. B)

Sy

1+y

1+y
C) y

=¥
l=y D)
y

Page No. 13

35.

36.

37.

38.

TS 7 m S 320 m e FY H GIs
AR g ARt
22 m x 14 m 1 9= 91 T R, S 9
Fr Fag 2

A) 25m

B) 3.5m

C)5m

D) 7m

R X2 + ax + b = 0 GHIRT 1 T q&
WE - FiRashod

o< =1 9 way

A) 3a?=16b

B) 16a2=3b

C) 3a = 16b?

D) 16a = 3b?

(a, b +c), (b, ¢ +a), (c, a + b) ferga
FUECRINEEILEIRIER R

A) a+b+c
2
B} 1abe
2
C) 1

D) O

AMyYy=m+ m?+ m?+ ... coT

Im| <1 ®a‘m' FT e B

AYL 22 B)
o
1

< <

C)

i
1+y

p) 1y
y

5|

1 PECE



39. In the figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

O+

B

V3

—Ccm
A) 3

B) 8cm
C) 83 cm
D) 43 cm

40. The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A) 75 m
B) 1043 m
C) ‘/_5. m
10
D) V3 m
41, If sin® + cosec = 2 then
Sin%0 + cosec?H = v
A) 4
B) 3

C) 2
D) 1

Page No. 14

39. i 7 T IFdgT & FaEfeg O H

AB = 8 cm R fuf3a ferm ma 8 | 37K
|ABP = 60° & i AABP 1 &% ®

A

O+

B

V3

—cm
A) 3

B) 8cm
C) 843 cm
D) 443 cm

40. ¥ T iR T & 32T 5o 9% 31
YR | 10 m =t g T i g & afk
Ut @ 30° F IEH F T 2 A U
g 3

10
A) Ef m
B) 1043 m

C) ia_m
10

D) /3 m

41, 3R sind + cosech = 2 B, al sin%0 +
cosec?f =
A) 4
B) 3
C) 2
D) 1

1 PECE
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42. Two vertices of a triangle are (1, 3) and

44,

45.

(4, — 5). If its centroid is (7, 2) then the
third vertex is

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always
true with respect to parallel lines ?

'A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

25sin 60°cos 30° cosec 45° .
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 32

When

C)%

The sum of first 20 odd natural
numbers is

A) 210
B) 250
C) 200
D) 400

Page No. 15

42. P AT (1, 3) 3R (4, - 5) ¥ | 3R

43.

45.

IG! T (7, 2) B, a e i @
A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

TR TE13T & Gay | 370 @ g 99
qEqTaEI 8 7

A) 37 GoHT T e AT I BT
B) I TEIHI &l 1Y Y[ Bram @
C) 3% gaAM! ) IS 4 Bt 8
D) 3 a1 st wfed — 1 et B

2sin 60°cos 30° cosec 45°
tan 45° cos 60° sin 45°

o™ W gd foerar
A) 6

B) 32

o) %

342
2

) Wl

TEet 20 R wrpfess gemett
T 2

A) 210
B) 250
C) 200
D) 400

1 PECE
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48.

49.

50.

simplified we get

125 27
&) g7 B) 125

C) 1 D) 0

The reflection of the point (-3, -2) in
Y axis is

A) (3,-2) B) (-3,2)
C) (8, 2) D) (0, -2)
A rational number between gand -9—
is
A) 30 B) 31
77 F 4
c) 28 Dyl
11 9

If a =2 and b = 3, then the value of
(@ +b*)"is

A) 17

B) 72

1

C)ﬁ;
1

D)E

If f(x) = x — 5x + 7, then (2) — f(-1) =
A) -34

B) 34

C) 12

D) —12

Page No. 16

46.

47.

48.

49,

50.

RO

! o T eH frerr 8

125 27
A) 27 B) 125
C) 1 D) 0

(-3, -2) g = Y at&1 3§ Traa fireran @
A) (3,-2) B) (-38,2)

C) &.2) D) (0,-2)

gam%aaaﬁaam&aam%

A) 5° B) 31
77 77
C) &3 D)
11 9

FRa=23Mb=387 (a®+b*)"
& Yo B

A) 17

B) 72

1
C)ﬁ

1

D)ﬁ

I f(X) = X2 = 5x + 7@l f(2) — f(=1) =
A) -34

B) 34

C) 12

D) —12

1 PECE
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51.

52,

83,

54,

55.

CHEMISTRY

pH of blood Is
A) 5.6
B) 6.5
C) 74
D) 4.7

Our stomach produces
acid which helps in the digestion.

A) H,SO,
B) HNO,
C) H,PO,
D) HCI

Stinging hair of nettle leaves inject
causing burning pain.

A) Ethanoic acid
B) Msthanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C) Sodlum hydroxide

D) Sodium chloride

is used in the manufacture

of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Page No. 17

51,

52.

53.

54,

55.

e R

W HpH R
A) 5.6
B) 8.5
C) 74
D) 4.7

T 92 TS A I F@T
? 9 9ree & U seg e R |

A) H,SO,
B) HNO,
C) H,PO,
D) HCl

forsg ¢t & ¥ AR 9 A & PR W
o % T T RV & B

A) 33TEE s
B) faemiye ufire
C) ST ufre
D) sgeAies uire

AT R |
A) Tifaq FEie
B) difww {gie Fee

C) difean tegirte
D) aiféaw seite

T & Fmfor & R I
I AT S |

A) = St

B) s |ier

C) difeaw teiws
D) wifEas ke

1 PECE



57.

58.

59,

60.

. Silver articles become black after

some time when exposed to air. This
is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite

Bronze is an alloy of
A) Cu&Zn

B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

is an alloy used for
welding electrical wires.

A) Bronze
B) Brass
C) Solder
D) Steel

Is @ major component of

CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.

A) Pt
B) Ni
C) Pd
D) Ag
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56.

57.

58.

59,

60.

BT % U9 A 3T & FS 90 918 91d) F
el 1R B ST & | T ShROT
AU

A) feet gethe

B) fireer sifalts

C) Rem wowge

D) fat aethe

HE

A) Cu & Zn
B) Cu& Sn
C) Cu&Pb
D) Cu&Ti

W TH AT U R |

firsrelt & ol =1 SR & e
T wrg =1 39T R ST R |
A) HE
B) diaet
C) Py
D) ¥

CNG &1 J&4 92 g1
A) o
B) ¥9m
C) W
D) =g

FTEqfa Al % g1 & fore
%! IoNEF & F9H IJgAm frar s @ |

A) Pt
B) Ni
C) Pd
D) Ag
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61.

62.

63.

65.

PH of milk of magnesia is
A) 11

B) 10

C) 115

D) 10.5

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCI

C) HNO,
D) HSO,

acid is present in Tomato.

A) Oxalic

B) Citric

C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is called

A) Brine

B) Milk of magnesia
C) Washing soda
D) Baking soda

Bleaching powder is represented as
A) CaClO

B) CaOCl

C) CaOCl,

D) Ca,0Cl,
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61.

62.

63.

64.

65.

AR % 34 1 pH 2
A) 11

B) 10

C) 11.5

D) 10.5

Bk 1 aTaTeR & o

e I it wreef A a R |
A) H,S0,

B) HCI

C) HNO,

D) HSO,

AT H R g g ® |

A) 3lreTfersh
B) fifew
C) =it
D) A¥MisH

difsay e S o A
FEd 8

A) @

B) #nfirn #1 gy
C) e |

D) =f grer

st det
FT B

A) CaClO
B) CaOCI
C) CaOCl,
D) Ca,0Cl,

a?mﬁrﬁrﬁr_?a
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66. When lead nitrate is heated emission
of occurs.
A) N,O,
B) NO,
C) NO
D) N,

67. Na,SO, + BaCl, —— BaSO, +
2NaCl is an example for
reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

68. Chips manufacturers usually flush
bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen

D) Carbon dioxide

69. On passing excess of carbon dioxide
through lime water is
obtained.

A) CaCO,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),
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66. d TG 15 hl THIAT ST § 76
T ICHSIT 91T T & |

A) N,0,
B) NO,
C) NO
D) N,

67. Na,SO, + BaCl, —— BaSO, +
2NaCl 78 wiefsean &

o w FErE R |
A) freum=

B) <& faeamH
C) 9Het YqEeH

D) a9

68. T Fmtar sk w o i e
21§ T & faig 9 % 91y
ReFdma e € |

A) e
B) IS

C) ¥
D) FE-SRFIS

69. I & Ul F uTeHm | AfaiE
FESEATFIE Tga T
YT BT § |
A) CaCO,

B) Ca(OH),
C) CaH,
D) Ca(HCO,),
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70. solution does not 70. =1 O foett 1 d=eE
conduct electricity. TR
A) Sodium hydroxide A) Tifem tgiads
B) Calcium hydroxide B) hedian tgiaie
C) Glucose C) =
D) Hydrochloric acid D) i s
71. Modern periodic table has 71. syfFE SEd et d _ arafiet
periods. gl
A) 18 A) 18
B) 8 B) 8
C) 7 C) 7
D) 17 D) 17
72. Metalloids is 72. Hereiised (uTg ¥9) g
A) Silicon A) Taferenia
B) Carbon B) T
C) Magnesium C) #ftEm
D) Iron D) e
73. M shell of chlorine contains _______ < BESUCER GRS TR
electrons. AT
A) 7 A) 7
B) 6 B) 6
C) 4 C) 4
D) 5 D) 5
74. Metal oxide + Acid — X + water, X is 74, 9T HiFEIIS + AFA - X + T,
A) Metal 2 il
B) Acid g; :i{
C) Base C) 39
D) Salt D) 7w

: 1 pece
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76.

78,

79,

75.

Hydronium ion Is
A) H*

B) H,0*

C) OH.,°

0
D) OH

Manganese react with very dilute

HNO, to evolve gas.

A) H,
B) N,
C) O,
D) NO,

The order of reactivity is
A) Al>Mg > Fe > 2Zn
B) Mg > Al>2Zn > Fe
C) Al>Mg>2Zn>Fe
D) Mg > Al > Fe > Zn

Cinnabar is
A) HgO
B) CuO
C) HgS
D) Cu,S

Sulphide ores are converted in to
oxides by

A) Combination
B) Reduction
C) Calcination

D) Roasting

Crage No.z2

75. Eeifm s 14

786.

77.

78.

79.

A) H*
B) H,0*
C) OH,®
0
D) OH

wgd Yot HNO, & &g ffier & wwra &
q e e ¢ |

A) H,
B) N,
GO,
D) NO,

TSR %1 50 2
A) Al> Mg > Fe > Zn

B) Mg> Al>2Zn> Fe

C) Al>Mg>2Zn>Fe
D) Mg > Al >Fe > Zn

=R g1
A) HgO
B) CuO
C) HgS
D) Cu,S

TTHISE TR A EU
eaTEed A yiafda e s |
A) S

B) =t

C) u&m

D) ¥R

1 PECE
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80. Fezomﬁ 2”«: —)ZFem + Alzomﬁ Heat.

81.

82.

83.

This reaction is called
A) Calcination

B) Thermit reaction
C) Thermal reaction
D) Displacement

gas is liberated when
zinc is treated with H,SO,.

A) O,
B) SO,
C) H,
D) SO,

Quick lime is
A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CO, in
air to form a thin layer of

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCOQ,

During respiration
combines with oxygen in the cells and
produces CO, and water.

A) Sucrose
B) Fructose
C) Glucose
D) Galactose
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80. Fe, O

81.

2Oy + 2Al, — 2Fe, + ALO,  + Heat.

s FEad |
A) YEHT

B) emige wfsran

C) wfer wefda

D) =

g g et @ 9/ H,SO,
% a1y freh =1 SwaR e s 2

A) O,

B) SO,

C) H,

D) SO,

82. &t 2

83.

84.

A) Ca0

B) CaCl,

C) Ca(OH),
D) Ca(HCOQ,),

T §31 < HR R g/ CO, & a1y
Y qarel) T A & fg
vt s § |

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCO,

G & S HiRwERreT
At & a1 fre CO, 3R
ITE AT § |

A) ghE
B) $aa|
C) e
D) meeeE

1 PECE



85, Colour of ferrous sulphate crystals
A) Orange
B) Green
C) Blue

D) Yellow

86. Plaster Of Paris (POP) Is
A) CaSO,.2H,0
B) CaSO,.H,0
C) CaS0,.72H,0
D) CaSO,.%H,0

87. The ability of metals to be drawn in to
thin wires is called
A) Malleability
B) Ductility
C) Conductivity
D) Sonorous

88. I8 most malleable metal.
A) Au
B) Al
C) Fe
D) Zn

89, I8 non-metal but it is
fustrous.

A) Carbon
B) Chlorine
C) Bromine
D) lodine

90. does not react with cold
water., :

A) Sodium
B) Calcium
C) Magnesium
D) Potassium

B Page No. 24

85.

86.

87.

88.

89.

90.

WIEHY TTUFH Thieswh H1 11 ¥
A) Tft ;

B) &

C) Hrem

D) d=n

THATERR 31T Ui (POP) R |
A) CaS0,.2H,0

B) CaS0,.H,0

C) CaSO0,.%.H,0

D) CaS0,.%H,0

TRl i vt a8 e Y e o
g AT § |

A) srmaTead-igar

B) =fiemu=

C) Jagshed

D) wyR/we

T AETedig ag #

A) Au
B) Al
C) Fe
D) Zn

R urg R AfeFT awerem R |
A) FTE

B) TR

C) sl

D) EEH

3 Ut & | i A
AT | |
A) Gifsam
B) sedaH
C) Tfam
D) qrefimm

1 PECE
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91.

92.

93.

94,

95.

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum

is used as plaster for
supporting fractured bones in the right
position.

A) CaSO,*10H,0

B) CaSO,-2H,0

C) CaSO,"'/,H,0

D) CaSO,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D) Fullerene

Amphoteric oxide is
A) CuO

B) Na,0

C) K,O

D) ALO,
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91.

92.

93.

94,

95.

Hifeam S 1 3 feesia safia
TR

A) afém grer

B) YTs 1 el

C) sefifem dier

D) Rrwm

i gt feufs o wfea efEl
& Y % foTe et & &9 o 35
fr s ®

A) CaSO,10H,0

B) CaSO,2H,0

C) CasSO,-'/,H,0

D) CaSO,

uTg FR F a9 R fafaas
(&) FTIAANG E |

A) siiH

B) wRgR (umr)

C) 7E

D) fre (swe)

Y § T HfST Fe HT AT Y
HAATE 7

A) TAWE

B) uthe

C) fferm wieig

D) Feaiid

vy ATFarEe B

A) CuO
B) Na,O
C) K,0

D) ALQ,
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96.

97.

98.

99,

100.

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether

solution of acetic acid in
water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The melting point of pure ethanoic
acid is

A) 300 K

B) 298 K

C) 310K

D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atomic nature

06. AT T TSI

97.

98.

989.

100.
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EGIE

A) 7
B) 335w qfire
C) 3
D) R

urt # uRifes ufdre
F AR FE s |

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

TR s R F oS # |
A) 300 K
B) 298 K
C) 310K
D) 290 K

2T ATcIRia 3R FTEiRaTeTs TS 3
% fo wfre o1 9w i sufefa & wfafsman
Har g | o FEd® |

A) TRiRFRH

B) awRfthehH

C) teifeifem

D) Ffafed

ol & U I
FEE |

A) T SR
B) WA AT
G)WW
D) Ty i

% At
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101.

102.

103.

104,

105.

PHYSICS

Retina of the eye is a

A) Light sensitive screen
B) Lens

C) Object

D) Aperture

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia

B) Accommodation
C) Near sightedness
D) Far sightedness

The change in focal length of an eye
lens is caused by the action of the

A) Pupil

B) Retina

C) Cilliary muscles
D) Iris

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopia

C) Hypermetropia
D) Astigmatism

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo

B) Red

C) Orange

D) Yellow
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101.

102.

103.

104,

105.

wifees g

@ 1 Afde (Fvea) §

A) T T ST Y2
B) &=

C) ag
D) &=

3@ & A9 il Frehel weTs i GHAI
o faft= gt At axgedt w o atfe
hisd o Tl & | 39 Fed &

A) S R 3R gy

B) gfaen

C) P g <

D) 3R

3T & T ) Bishel TiaTs § Iiad e
FrFwRu g ?

A) geet

B) fdge

C) Tuferadt niaufivat

D)

I i & |1y 3T % ghaw i viw w0
B9 8 | 39 R A s e @

A) fiee gfe 3

B) s R gfe Ay

C) € gfR qw

D) gfe Jyg

W THE WhTNT i WU BT 8, aa o
H E FHIFET T o e el & 7

A) His

B) W

C) rh

D) diem
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106.

107.

108.

109.

Equivalent resistance (R) of the parallel

combination when two resistors R, and

R, are connected in parallel is equal to
_R+R,

P~ RR,

A) R

According to Joule's law of heating, the
heat generated due to electric current
is given by
A) H = IRt
C) H=IR*

B) H=IRt
D) H=1IR?

1 watt of power is equal to
A) 1IW=1Vx 1A

B) 1W =

1\

o) W=V

1A
VE

D) tW= A

The commercial unit of electrical
energy is
A) Kilowatt hour

B) Kilowatt

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

106.

107.

108.

109.

.B)

5= 3 afedy R, 3R R, i GHiGC SIS
AT B, A GHIGR A ol GHged
wfedy (R)

R, +R,;

A) Ry= Lo

B) R =
'R -,

C) R = -T2

RR,
R, +R;

D) R =

et 3 T 3 R % 1geR forga v %
Frut FAfifa s FIMATAE |

A) H = IRt B) H=IRt
C) H=IR% D) H=IR?

1 a7e forege wifere o R
A) 1W =1V x 1A

B) 1W= A

1\

C) 1W=£

1A
vﬂ

D) W=7

e e & SEEE 7T
A) frerare "o

fretare
HUg]

C) ﬁwﬁmz/éw
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D) freiame (Twer)?
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110. The resistance of a wire is

112,

118.

i 0f B -

A) directly proportional to its area of
cross section

B) inversely proportional to its area of
cross section

C) independent of its area of cross
section

D) proportional to square of its area of
cross section

The magnetic field of a solenoid carrying
a current is similar to that of a

A) Bar magnet
B) Resistor
C) Electric motor

D) lron core

The AC supply to the houses is of
220 V, 50 Hz. One of the wires In this
supply is with red insulation called as

A) Live wire

B) Neutral wire

C) Earth wire

D) None of the above

The phenomenon of Electro-magnetic

induction is

A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coil

C) Inducing electric current in a coil
due to relative motion between a
magnet and the caoil

D) The process of rotating a coil of an
electric motor

110. 91 ! afeyear

Jilets

112,

113.

A) IHE NIEY FE F QAP § FHIITEA
B) :’gﬁﬁnﬂmﬂamﬁw
C) ?aitaﬂmmtﬁmﬁﬁﬁwﬂ?ﬁ
D) iﬁ; AFIEY FIE & HABA & a7 |

ITgaTier Bt &

forgga & SHE AT 1 gEh B
FEAF AR |

A) o i 93t

B) wftritrsh

C) forereft =1 AR

D) &8 &1 q&

T % AC Y amgff 220 V, 50 Hz it & |
MYfd & aRl 7 | T T FYAYH & qY
(AR

A) fagem TR

B) WY AR

C) o9 amR

D) Ivdw & wf et

Rr-geh o Y we 8

A) T Tg1d Syl F i i

B) T $80 ¥ B forga oA & wnr
YaehIT &1 IeqA L i Wi

C) G Yo 3R Fsa & ofiw ang 1l &
T FHet § Wa FBrega a0 I F:

D) Terea Hiet & §5 1 g =i Wik
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114. At the time of short circuit, the current 114, &g 9fay (WS afhe) & wm, WRaa |

in the circuit fersrett o g

A) Reduces substantially A) YT FH G IS
B) Does not change B) €l srgeran &

C) Increases heavily C) Teifires wigan &
D) Vary continuously | D) TGN SEeral &

115. The device used for producing electric | 115 fiem wyare ¥ Iared % fie 3w fg

current is called as T ST Y Hel S &

A) Generator A) SRA |
B) Galvanometer B) feEArdiex f
C) Ammeter C) THix

D) Motor D) AKX

116. The ratio of sine of angle of incidence 116. Ru g aremm 3w & R sruady wo

to the sine of angle of refraction is a T ¥ 3G VT & 1 1 3T FER
constant for given pair of media. This 2 | 7 fugia ) e S B
law is known as )
A) Hera o Frem /R
A) Maulas law e T
B) Snell's law B) wiw 1 e/ ;
C) Stefan's law C) i i1 e /frgra
D) Pascal's law D) U=l 1 frgia /Frem
|
117. Which among the following has a 117. Freafafag § @ e awadTs 9= |
larger refractive index 7 TR ?
A) Ice A) o5/
B) Carbon B) wEq
C) Diamond C) #
D) Ruby D) =nfor




i

118.

118.

120.

1215

122,

The effective diameter of the circular
outline of a spherical lens is called

A) Aperture

B) Optic center
C) Pole

D) Principal focus

The focal length of a plane mirror is
A) Zero

B) One

C) Infinity

D) Two

Sl unit of power of a lens is
A) Metre

B) Dioptre

C) Centimeter

D) Steradian

According to Fleming's left hand rule,
the fore finger is pointed towards the
direction of

A) Electric current

B) Magnetic field

C) Force exerted

D) Motion of the conductor

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode
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118, T MR A= i TTHR FRET F et

118.

120.

121.

122.

ST ! HET ST B
A) foz

A it wifew A @, TeE R
A) X

B) featiet

C) dfedfie

D) U=

AT & = 71 & e & e, Tt
i fem zwridi &

A) fora yams

B) gerhig &

C) Icafsia ael

D) Hares @i Tfd

T8 370 ot TRt gfmy # fage &
Jufefer =it gar o wepen @

A) e
B) fre@andiex
C) wiliv=
D) e
1 PECE



123.

124..

125.

126.

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelsctric effect

A rectangular coil of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions
B) 1 revolution

C) half revolution
D) %f‘ revolution

Magnetic field lines are shown closer
together where the magnetic fieid is

A) Stronger

B) Weak

C) Constant

D) None of the above

S| unit of potential difference is
A) Ampere

B) Voit

C) Coulomb

D) Joule
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123.

124,

125,

126.

v ST 3 3 e g

ro

A) TR TSR
B) ®ict SV

C) Hgaifas I
D) Hiaigaifages T

i % R FT T AAWHR T T
e & ¥ g i € | St ferga g
HRmuRs  HofEfda e |
A) 2 Ui

B) 1M

C) Jp T

D) Y4 T

TreehT 8 STt o O Ay fa
R el g & 2
A) WS

B) 3

C) €™

D) 39 & & IS e

fonvaiet 1 7@, TS, T &
A) THRR
B) diee

C) Fers
D) si&
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127

| 128,

129.

130.

1 ohm is equal to
A) lampere
1volt
B) 1 volt x 1 ampere

C) 1 volt
1ampere

D) 1 volt x (1 ampere)?

If the length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half
B) doubles

C) reduces by Y
D) quadruples

Sl unit of resistivity is
A Om
C) Q

B) Q' m™
D) Qm-

When the resistors are connected in
series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual
resistance
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127.

128.

129.

130.

1 379 & SR §
EECE

B) 14w x 1 TdRR

C) e
T

D) 142 x (1 THiER)?

fe ¥Tg % AR 6 TS QAT R A S, &l

= Sy

A) 318 B %9 gaT 8

B) 3T &1 &

C) U =g & 9 81 ®

D) < e &

wicrerer 6 . . 7S R

A) Qm B) Q' m™

C) Q D) Qm-

w9 Wialigehi $ Y@ § Sier 9 g,

o

A) Wl ferrass it ferga e uitey & frpE
R % TAM Bl &

B) i iokiee | erare! alees TRuY
& el aicew & G9H Bt &

C) Y& Wieus & eAare fagaum
= I 9Oy % Fo fawa an & §ae
Brelt B

D) gedt B¢ Jyfeaeh gfekiy @ wureh wfedy
4 BT 8
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131.

132.

133.

134.

135.

Image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus
B) Principal axis
C) Focal length
D) Parallel ray

A ray parallel to the principal axis after
reflection from a concave mirror will
pass through

A) Principal focus

B) Principal axis

C) Radius of curvature
D) Center of curvature

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Point sized
B) Enlarged
C) Large

D) Same size

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave

B) Convex

C) Plane

D) Plano-convex
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131.

132.

138.

134.

135.

U avad <du g P oy e S
Bl §

A) It 3Tt @@=

B) arafash 37X 3eieT

C) amurdt o7 3w

D) ariash 3R @1

TS MATHR 3907 it Feham g o g9 @
B TeTaTeT Shiediaeh 1@l &

A) S hg-fag

B) vy gt

C) Biehel oiaiTs

D) @uTeR feRtar

IEae U § W F 91E Yq@ I F
AT O ool 9 i el € |
A) TuH %g-fag

B) wum 4t

C) ashat Br=a

D) ashal 1 F5

5d T 95 ! a1 H W@ A 8,
Jaet gqur g FAfa Sfa 1 TR g @
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136.

137.

138.

139.

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is

A) Thermal effect

B) Balwin effect

C) Raman effect

D) Tyndall effect

The blue colour of the sky and the
redding of sun at sunrise and sunset
is caused due to

A) Scattering of light

B) Reflection

C) Thermal effect

D) Atmospheric diffraction

One ampere current is

A 1 coulomb
1second

B) 1 coulomb x 1 second

C) 2 coulomﬂb
1second

D) 1 coulomb x 1 second?
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140.

141.

142.

143.

Potential difference between two
points is equal to

A) Workdone
Charge

B) Charge x Work done

Charge
Work done

D) (Charge)?
Work done

The safety device used for protecting
the circuits from short circuiting is

A) Resistor B) Fuse

C) Motor D) Generator

The direction of the electric current is
taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of electrons

A piece of wire of resistance R is cutinto
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R’,

the ratio %' is

A Yos

C) 5

B)}é

D) 25
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144,

145.

146.

147.

Which of the following is not an example
of conventional energy source ?

A) Wood

B) Gobar gas

C) Nuclear energy
D) Coal

Which among the following is a
non-conventional source of energy ?

A) Fossil fuel

B) Solar energy
C) Hydro power plant
D) Wind energy

Conductors of electric heating devices
such as bread toasters and electric
irons are made by alloy rather than pure
metals because

A) Alloys have low resistivity

B) Alloys have high resistivity

C) ltis not dependent on resistivity
D) None of the above

A current through a horizontal power
line flows in East to West direction. The
direction of magnetic field at a point
directly below the power line is

A) North to South
B) South to North
C) West to East
D) East to West
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148.

149.

150.

The magnetic field due to current
carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turn
1

C) p times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
inside a solenoid can be used to magnetise
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed is called as

A) Electromagnet

B) Diamagnet

C) Paramagnet

D) Permanent magnet

The magnetic field inside a long straight
solenoid carrying current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) is the same at all points
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